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» AHP (Analytic Hierarchy Process) :

» Pennsylvania Wharton School Thomas L. Satty 1971
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> 9 Point Likert Scale
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A | g a a 1
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(Extreme Importance) 41 42 43
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» Eigenvalue Method
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EX) > 4 w

w, /w,

VAR

W, W,




( )
1 2
A =
1
1 2 Aw=Aw, (A-Al) w=0
1/2 1
1-A 2 W 0
% 1-A w,| |0
w,,wW, O det(A-A/)

0
det(A-Al)= (1-A)?=1=0 , A_ =2



_____ I
3 ( )
1-A 2 Wy 0
v 1-A ) W, = 0
-w;+2w, =0
Yow, -w, =0

w, = 0.667, w,=0.333,

Amax = 2

W  0.667,

W




AHP

(

N
3. ( )
1 2 0.67
1/2 1 0.33
1 2 4 0.571
1/2 1 2 0.286
174 1/2 1 0.143

1 3 0.667
1/3 1 0.222
1/6 1/2 0.111
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(cordial consistency)
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(transitive consistency) (cordial consistency)
A>A, A>A, A>A, A=2A, A,=3A, A=6A,

(Consistency Index), (Consistency Ratio)

Cl = (Appe)/(n-1), N =

_ RI: =Xl (Random Index)
CR=CI/RI LOILA 9DtXIS] 2XH2 20| 2 Hi 2 &t
CR<0.1— 4Bl LI 40 BRES AES

n 1 2 3 4 5 6 7 8 9 10

th=Xlz= | O 0O 058 090 112 124 132 1.41 1.45 1.49

n=2, A =2 CI=0, CR=0
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